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Answer Key 
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24   >  28 

  39 

  20 

 11 

  15 

 (        )  

 (      )  

 (      )  

 (      )  



 8 
 6 & 7 
 4.5 

     0, 0, 1, 1, 1, 2, 2, 2, 2, 3, 4, 4, 4, 4, 5, 5, 5, 6, 6, 6, 6, 6, 7, 7, 7, 7, 7, 8 

 Mode – most frequent 

Maximum Minimum 

Median 

 1,524 

 4,151, - 2,627 = 1,524 

   4,151 
-  2,627 
   1,524 

3  11 4 11 

   29⁰ 
+ 15⁰ 
   44⁰ 

 44 
29⁰ + 15⁰ = 44⁰  



 *2 

 18 

 16 

 7 
 12 

 1, 2, 3, 4, 6, 12 

 x = 6 

 m = 7 

 x = 18 

 z = 49 

 x = 14 

 t = 28 



     2 

     2 ½ 
 

     400 

   500 

3 6 
9 12 
15 18 
21 24   
27   30 

5 10 
15 20   
25 30 
35 40 
45  50 

15 
30 



Part C: Challenge (Bonus) 

 (5 + 2 + 6 + 8) – 3 = 18 

 8/2 + 5 * (5-3) = 18 

 6 x 3 = 18 
(3+2) + 5 + 8 + 18 

Explain: Kato needs to add parentheses around the 
first 4 numbers in the first number sentence and 
change the last operation from addition to subtraction 
to correct it.  In the second number sentence, she 
needs to remove the parentheses around the first 3 
numbers and move it to the last two numbers to 
correct it.   


